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[A]

T -1/ PART -1
91« {9 9 fRrenems / CHILD DEVELOPMENT AND PEDAGOGY

3T : Rt g7 % a7 &7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

1. Ffafea & 9 a9-9 fTem @ 98
fagwar 7 & ?
(1) fawma & oRads @xar @
() T T waa e |
A HEwEqel T &
(3)?25@1@25 Yo @A e

(@?ﬁﬁﬂﬁ%ﬂﬁﬂ%ﬁﬂmsﬁ

2. frefatad § & -4 &l & A9
=g v fafy & 7
(1) T i Feheiehl
(2) usEEt
(3) ¥% fee

(4) rEEh R

3. ‘T YT B STER 1 B © ¢
(1) | GRS
(2) X Ui
(3) ST (1) T (2)
(4) SR | q B el

4. Frefatad & | dH-G6F 9T &) Jed
sl fame yhR e i L
78 &7
(1) FATHbE
(2) STSMaT!

(3) I Wd F Sifah HEES
T

(4) T ® MR W S & 9T
S g

Level-3/9202

1.

3.

4.

Which of the following is not the
true characteristic of Development ?
(1) Development involves changes
(2) Early Development is more
critical than later development

(3) Development Patterns

unpredictable

are

(4) There are individual differences
in development

Which of the following is indirect
method of measurement of motives ?

(1) Sentence completion technique
(2) Questionnaire

(3) Checklist

(4) Interview

What are the basis of 'Self Concept' ?
(1) Social Roles

(2) The Body Image

(3) Above (1) and (2)

(4) None of the above

Which of the following is not the

characteristic of introverted thinking

type personality as given by Jung ?

(1) Self Centered

(2) Optimistic

(3) Absorbed in his own intellectual
pursuit

(4) Support Theory with facts

P.T.O.



[A]

16 a4 &% AY % A= H R
SRTRT foerer &1 STl & ?

(1) 750 I & 900 TH
(2) 1200 919 § 1400 7
(3) 1000 719 & 1200 7H
(4) 800 IH & 1000 IH

-4 FASE A AT IR
e it & Qafes 99 @
JeM+h &7 @ faae Teqa fom o ?
(1) it

(2) §Ft Tos &ve

(3) s

(4) X WG9 TMees

frefofeg & @ H9-91 T9@ENN &=
el qe § 7

(1) T4

(2) g

(3) YRR T SR
(4) gERHTT

frefofeg & @ #9-d
PRt d g QU T A
R & SUY @ed WX &

SR B 7

(1) T9€ TG STRHINT

(2) gmIiSTh STIeY

(3) ST TEHI/STBT Tshl
(4) FA AR IS e

134

Level-3/9202

[4]

. Which

. What is the approximate weight of

the Brain upto 16 year age ?
(1) 750 gm to 900 gm

(2) 1200 gm to 1400 gm
(3) 1000 gm to 1200 gm
(4) 800 gm to 1000 gm

Psychologist ~ presented
scientific description of 'Individual
differences' in his Book 'Hereditary
Genius' ?

(1) Allport

(2) Biggi and Hunt
(3) Jean Piaget

(4) Sir Fransis Galton

. Which of the following is Direct

Method of Adjustment ?

(1) Repression

(2) Regression

(3) Withdrawl and Submissiveness

(4) Rationalization

. Which of the following orientation

falls under the post convention level
of Moral Development Theory
propounded by Kohlberg ?

(1) Punishment and Obedience
(2) Social contract
(3) Good boy/Nice girl

(4) Law and Social order



10.

11.

12.

13.

fr=ifeifeg & @ H9-di fheRrEn &l
faQrar 782 ?

(1) GameHs ReRan
) R g g
(3) Fa9™T &I =

(4) g G i Ae

ST M AT B B HIT TR
ﬁmﬁﬁaﬁsﬁ%aﬁ@@w
TfeT, FHedAld &

(1) foegaey faeere
(2) ol fren wEwT (IEP)

(3) APRIAHE L

(4) 9T &Y

frafofea & & #=-w1 ot wfq &

qer FET e 7

(1) e

(2) NEd arer

(3) &

(4) 98 ERE & G g W SR
HET

Frefefad & | ®iF-a1 G99 9T
& dMIe oM Rera 8 g
e ?

(1) HisfeiT

(2) AFHT

(3) SR

(4) MBS SARFH
aﬁ—eﬁr?ranﬁﬁasna—vr%aﬂww

AUNHT B WA GY T TUSHIG
Rl & A U ¥ AR § 7

(1) 7-1-1 2) 1-7-1
3) 1-1-7 (4) 4-4-4

Level-3/9202

[5]

10.

11.

12.

13.

[A]

Which of the following is not the
characteristic of Adolescence ?

(1) Emotional Stability

(2) Contrasting Mental Moods
(3) Anxiety of Vocation

(4) Feeling of Hero worship

A statement of knowledge or skills

that student should master after

instruction, is known as :

(1) A content analysis

(2) An individualized educational
programme (IEP)

(3) An instructional objective

(4) General Aims

Which of the following is not the

symptoms of Good Memory ?

(1) Rapidity

(2) Average retention

(3) Accuracy

(4) Recall of right material at right
time

Which of the following concept is not
related with  Bandura's  Social
Learning Theory ?

(1) Modeling

(2) Adaptation

(3) Imitation

(4) Observational learning

What is the ranking ratio given by

Sheldon for predominant endomorph
person according to physique ?

(1) 7-1-1 2) 1-7-1
3) 1-1-7 (4) 4-4-4

P.T.O.



[A]

14

15.

16.

17.

18.

. R F AR ‘A e
%l el e -G e ?

(1) aRe™ BErar g9 g9
(2) 9BdM SFM Yo Hifel
(3) Fmedr aM faeT

(4) I g9H ReRar

Frefafed & & aF-w fowe a@
Yo GoTTeTRdl B O 787 & ¢

(1) et (2) STHaA

(3) T (4) A
frefefeg & @ @®9-a1 ofrm &
gITCeh TMTROT & YR 7e & ?
(1) II9d TR

(2) HiHEH R

(3) BifeeT =

(4) I SRR

Frefefed & @ &9-d1 BEs &1
Ue TR ST J87 8 ?

(1) QAgTEEeT

(2) T@E ST

(3) TETEET

(4) EmEeE

e ®Er & ‘“oMifee Shifed
Sig-SJall & X & G s
g ?

(1) &X fafead Aepg

(2) 9 WifeE e

(3) Ao TEEHEY

(4) faferm si=

Level-3/9202

[6]

14.

15.

16.

17.

18.

Which is the fifth stage of Personality
development according to Erikson ?

(1) industry v/s inferiority
(2) identity v/s role confusion
(3) intimacy v/s isolation

(4) generativity v/s stagnation

Which of the following is not the
element of creativity as given by
Guilford ?

(1) Fluency
(3) Flexibility

(2) Incubation

(4) Originality
Which of the following is not the
type of positive transfer of learning ?
(1) Lateral transfer

(2) Sequential transfer

(3) Horizontal transfer

(4) Zero transfer

Which of the following is not the
Freud's Psychosexual stage ?

(1) Phallic stage

(2) Autonomy stage

(3) Anal stage

(4) Oral stage

Who stated that "Psychology is the
Positive Science of conduct of living
creatures"” ?

(1) Sir William McDougall
(2) Sir Francis Galton

(3) Max Wertheimer

(4) William James



19.

20.

21,

22,

fr=ifoifeg & | S9-a1 e a=fem
T o o gl fafr 787 2 ?

(1) a9 gRecs & & srear dimr
# fafy

(2) R SEue i fafy
(3) Jraa sfe@T AT e H
(4) =T ARy & aRersH

@ FM & WY, A T
YAETeH & SR & & T SR
3 g8 feied d | fees gies

B TATT e 8 °
(1) = (2) AR
(3) WIS (4) 93T

U SO & e A o it
P WA G de F Tgaad D,
B9 H Sgaed Bedd, U9 @
SgaeH U9 I HA 4 el 7 Ae|
T SgaET el § AeHE S A
TE fhH THN & HARFH MR 6
JEEI B 7

(1) ST ST

(2) FMHE T

(3) g AR

(4) S S

Level-3/9202
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19.

20.

21,

22,

[A]

Which of the following is not the

type of "Psychophysical Method" of

study of Educational Psychology ?

(1) The method of minimal changes
or method of limits

(2) The method of constant stimuli

(3) The method of average or mean
error

(4) Modifying
attitude

the individual

'Knowledge is constructed by
transforming, organizing and
re-organizing previous knowledge.'
This best explains the idea of which
of the following ?
(1) Piaget

(3) Freud

(2) Vygotsky
(4) Bandura

According to the  Cognitive
Development Theory of Piaget, "The
basic building block of knowledge' is
called :

(1) Schema

(2) Assimilation
(3) Accommodation
(4) Equilibration

An English teacher taught their
students that plural of Cat is Cats,
plural of House is Houses, plural of
Pen is Pens, in this manner student by
mistake made plural of Mouse as
Mouses. This is the example of which
type of transfer of learning ?

(1) Positive transfer

(2) Negative transfer

(3) Zero transfer

(4) Vertical transfer

P.T.O.



[A]

23. fFefofad & @ d9-@1 SEU &

Ty /T faRe § 7
(1) AR

(2) ITed

(3) fomma

(4) TET I Ity

24. X BN SloUled  “UERE =E
Rt A K | s G B TR o1 A e et o B

deft 7

(1) it o1 Res=t

(2) 9 T JhR s
(3) UK f¥gT=

(4) AAaeATTeh e

25. fSeffad & & H9-91 ‘99W AFRS
e gl H e Al TR © 7

(1) 52 & 67
() 36 9 51
(3) 20 ¥ 35
(4) 20 § =

26. Ffofad § & HHE-81 TSR
Yo afdde [ 8g offes Al
TER &l T ?

(1) e ergy
(2) AEHE TEW
(3) fompeHt ergy
(4) TEEHL MEA S e ST

Level-3/9202

[8]

23.

24.

25.

26.

Which of the following is objective
determinants of Attention ?

(1) Interest

(2) Habit

(3) Curiosity

(4) Duration of stimulus

Murray's "Thematic Apperception
Test" is related to which theory of
personality ?

(1) Trait theory

(2) Trait and Type theory
(3) Type theory

(4) Psychoanalytical theory

Which of the following is 1.Q. Range of
'Moderate mental retarded' children ?

(1) 52to 67
(2) 36to 51
(3) 20to 35
(4) below 20

Which of the following is not the
type of life styles for the
development of personality given by
Adler ?

(1) Lazy type

(2) Ruling type

(3) Go-getting type
(4) Escaping type



27.

28.

29.

30.

Ao @@ g1 qhee § feew wiE
@ & fw o 8 ?

(1) 10

2) 12

(3) 15

(4) 28

Freifafad & @ @F-a1 9l & gie
9 @] 3 R ™ atka &7
JhR TET 8 ?

(1) Jsrt<as
(2) omfidie
(3) FHATTE

(4) el

frafafag & 4 sF-a1 dHSES 3™
Ue STRRTH T MoT/Herdsh a9 & ?

(1) deaXa &1 e
(2) IHE F |
(3) "R ght &1 FEH
(4) U9 H |

frfofag & @ d9-o feaimaeen &t

T8l faQuar 7&f e ?

(1) fpaaeen ST AR
%mww%ﬁaa%qﬁa?ﬁaw
|

(2) fpaivaen # wH ST RIS
feafy Bt 1

(3) fraiaen JgEEET 1 &
B B

(4) FRINEEN  grdiGaett @ {HY
B B

27.

28.

29.

30.

[A]

How many cards are wused in
Rorschach Inkblot Test ?

(1) 10

2) 12

3) 15

4) 28

Which of the following is not a type
of Personality given by Sprenger in
values point of view ?

(1) Theoretical
(2) Economic
(3) Asthetic
(4) Athletic

Which of the following is the
subordinate law of learning given by
Thorndike ?

(1) Law of readiness
(2) Law of exercise
(3) Law of mental set
(4) Law of effect

Which of the following is not the

true characteristic of Adolescence ?

(1) Adolescence is transitional stage
between childhood and
adulthood.

(2) In adolescence there is a vague
individual status.

(3) Adolescence is the threshold of
adulthood.

(4) Adolescence is a time of realism.

Level-3/9202

P.T.O.



[A] [10]
ART- 11/ PART -1
A1 (R= ©F 3fISH) / LANGUAGES (HINDI & ENGLISH)
[ &=/ HINDI ]
3T : R g7 % a7 &7 & [ qag ST [wey g

31. foare® @M g a9 iy 35. Fr=1 ¥ @ ‘9 H w@E 78 & ?

(1) a9 o< oT¥s  Jad & (1) gdaH (2) Brl

Eﬂtﬁ %l (3) T 4) @—a
(2) TED T & T S - ,
o 5 ot 36. Slfcrareh Hel YeRd AR 7@ ©

(3) ST T 3 G'TQ' (1) STeThet &1 TeTgdl 9gd e &

(4) 39 gV T T (2) SOl A E A wEar & O
32. i gie & orger fsed T - BT

| 3) FW-F A & SrEEA

(2) AT STt 2

) (4) H orgwa fpr B 65 o8 SR @

ORI <X T B

@ 37. fd faseq # oM &Y &1 W 787
33, feim a1 gfe & o A A g ® 7

Bifex (1) s (2) arieR

(1) SS-=reT (3) e 4) e

(2) ATH-IFHEA

(3) TR 38. & A B AT HIOT :

(4) TehR-FaER (1) T& FM Fis Jhid d & B el

gl

34.2;:;1@5?‘36’%%9@1%? ©) ¥ T e B

(1) o ©2) TR (3) YA SEET &8 B H HFA B

(3) BT (4) Sfed 4) & & & A g B

Level-3/9202




[11] [A]

39. 9N F 3fc q oG fabed Bifey 43. fpa faseq & srerdivE w99 ® °
(1) FI¥T - BT TgE (1) ferdiesr
(2) Ho-TEHN - H9ER &4 (2) FANGEF
(3) FmIE - STURM qgeT (3) sTqERar
(4)F‘|Ti-r|ﬁ_zb_l§|EREF‘;lsr (4)@'@:{
40.WQT%WQEFQE3€[§WQ i & 7 IR :
P o 44. TTF % I @ FFGIT g+
(1) ToT + 3% = TERYS
(1) TREl %1 & =TI oW el g .- .
TEA HAT - A<TH (2) I + 3% =
(2) FEEHR T ST AT S ©) e
e (4) TR + 9 = utE"
(3) fom fobell ey & - ST 45. T fobew & ‘o IUEE BN IENT gOT
(4) T8 o9 R @ § - i &7
, S (1) e
41. ANREd GEAEES :
, (2) g
() fBd ad & gam d 3@ SR
e 7 g (3) s
(2) Gt & dhrgr-a T9F e (4) ST

(3) R %M Jo & FHIA B
(4) GR 3T SAHATE B I T B

42. THHE fhAT gHT a9 AT
(1) FrEmr q4kT % 9’ e © 4
(2) wBfeEr aeme § 4T @ 2
(3) o1E% HSH W 2T T© o

OEGEE FERECERICSIE

Level-3/9202 P.T.O.
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46.

47.

48.

[12]
[ 3135ft / ENGLISH ]
Direction : Answer the following questions by selecting the most appropriate option.
Choose the part of sentence that is 49. Fill in the blank with the correct
grammatically incorrect : present perfect continuous tense :
That's twice I've been forgetting to Who ...... was coming to see me
bring my diary to work this week. this morning ?
(1) That's twice (1) you should say
(2) I've been forgetting (2) did you say
3 did said
(3) to bring my diary (3) you did sai
i (4) did you say that
(4) to work this week
o ) 50. Fill in the blank with the correct
Fill in the blank with the correct f . )
fon - present perfect continuous tense :
OpHon - . He ......... for five hours.
Of the two Novels, this is ............. . (1) been slept
(1) interesting (2) is sleeping
(2) more interesting (3) been sleeping
(3) interested (4) has been sleeping
(4) much interesting .
51. Fill in the blanks :
Change the narration : The growing number of visitors
He said, "I've been spending a lot | = the footpaths.
more time with my children." (1) are damaging (2) is damaging
(1) He told me that he had been (3) were damage (4) was damaged
spending a lot more time with o )
52. Fill in the blank with the correct

his children.

(2) He told me that he is spending a
lot more time with my children.

(3) He told me that he had spent a
lot more time with his children.

(4) He said that he spends a lot more
time with his children.

Level-3/9202

present perfect continuous tense :
She is one of the few people ........ .
(1) who I look up to

(2) whose I look up

(3) T'look up to

(4) Both (1) and (3)



53.

54.

55.

56.

Choose the option and arrange the
following sentence in the correct
order :

I.  Resigned

II. To sack him

III. Had he not

IV. We would have been forced

(H IV, 1ILILT (2) ILIL LIV
3 IV, ILLII 4) IOLLIV,II

Change the sentence into passive :
Someone has picked my pocket.

(1) My pocket is picked.

(2) Somebody picked my pocket.
(3) My pocket pick by somebody.
(4) My pocket has been picked.

Choose the grammatically correct

sentence :

(1) No reached the
station and the train arrived.

sooner Wwe

(2) No sooner did we reach the
station than the train arrived.
(3) No sooner did we reach the
station then the train arrived.
(4) No sooner did we reach the

station the train arrived.

Fill in the blank with the correct
option :

............ , they slept soundly.

(1) Hot though was the night air

(2) Hot though the night air was

[13]

57.

58.

59.

60.

[A]

Fill in the blank with the correct
present perfect continuous tense :

thinks that Julie should be
given the job.

(1) neither of us

(2) practically everyone
(3) A no. of people

(4) both (1) and (2)

To have 'a bee in the bonnet' means :
(1) to know perfectly

(2) something you are obsessed with
(3) not to take anything seriously
(4) to deviate from the point

Choose the part of sentence that is

grammatically incorrect :

The world's supply of oil is soon
running out.

(1) The world's
(2) supply of oil
(3) 1s soon running out

(4) both (1) and (2)

The word 'juncture' means :
(1) in a joyous manner

(2) to put in danger

(3) to sound harshly

(3) Hot was the night air that (4) point  rendered critical by
' t
(4) Hot although the night air was cireumstances
Level-3/9202 b1 o,



[A]

[14]

HET -1/ PART -1l
Y 99 / GENERAL STUDIES

[ A ARG, dliche SARTEHCT TRl | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3T : Rt g7 % a7 7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

Th HT AW H, 'DISTANCE'
'IDTATOEC' fer smr 2 &R
'DOCUMENT' @& 'ODDMUFTN'
forn S B, @ 3 9 e A g,
'THURSDAY' &t for@n s :

(1) HTRUDSYA

(2) HTVSREYA

(3) UHVSTEYA

(4) VIRUDSZB

FAG 10 HeX I B AN F@@l 2
Il ¥, T8 IR B R 6 HeX T
3l Y a8 q@ &t ofX 3 X =
3l T A JEANT fg & Hew d
P Ram A 8 ?
(1) uf3=™

(2) SRT-uiEd
(3) -

(4) =@

yqq a¥ § % Aa
# gha & S T
5% ' HH B S Bl AR
IV H SWEEr 79,800 o,
g H OMCH § HGE

(1) 79,800
(2) 80,200
(3) 80,000
(4) 79,600

Level-3/9202

61.

62.

63.

In a code language, 'DISTANCE' is
written as 'IDTATOEC' and
'DOCUMENT"' is  written  as
'ODDMUEFTN', then in same code
language, 'THURSDAY' will be
written as :

(1) HTRUDSYA
(2) HTVSREYA
(3) UHVSTEYA
(4) VIRUDSZB

Kamal walks 10 m towards North.
From there, he walks 6 m towards
south. Then he walks 3 m towards
East. In which direction is he with
reference to his starting point ?

(1) West

(2) South-West

(3) North-East

(4) South

In the first year, the population of a
village increased by 5% and in the
next year it decreased by 5%. If at the
end of the second year, the population
was 79,800, what was it at the
beginning of the first year ?

(1) 79,800

(2) 80,200

(3) 80,000

4) 79,600



64.

65.

66.

67.

68.

69.

70.

i M (o e S | G L L
1CV, 5FU, 9IT, 15LS, 170R

(1) 5FU (2) 9IT

(3) 15LS (4) 170R

& Fe A Bt 2 3 3 o &

(1) 27: 20
(3) 4:9

(2) 20:27
4) 9:

(2) &=

(3) 9fa (4) |gx

qul H HH S&d (SN qT U a9
H TH T W B
'HEARTLESS' ffa @@= drdfe g<af
§ fomfora feam o g & °

(D1 (2) 2

3) 3 “4) 4

s W ¥ 27% faerft oReh #
I gU AR 38% fasme # orwt
W, A 19% I R F ergw
g, @ 2T fawdt & S B gfed ©
(1) 46% (2) 54%

(3) 62% 4) 81%

fr=1 g Aoft & o wE F

20, 20, 19, 16, 17, 13, 14, 11, 2, 2
(1) 10, 10 (2) 10, 11
(3) 13, 14 4) 10,9
TF Al 90 » QUi f&em 7 13
fpt o e @ Rew & 28 ol W@
I &Y B 9R 5 HS &H W Al
B U T o ?
(1) 1v5 st /99er (2) 2 fHt /g0er
(3) 2V4 fpHt /g9er (4) 3 At /g0eT
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64.

65.

66.

67.

68.

69.

70.

[A]

Find the wrong terms of the

following series :

1CV, 5FU, 9IT, 15LS, 170R
(1) SFU (2) 9IT
(3) 15LS (4) 170R
The radii of two cylinders are in the
ratio 2 : 3 and their heights are in the
ratio 5 : 3. The ratio of their volumes
are :
(1) 27:20 (2) 20:27
3)4:9 4 9:4

Mr. X said about Mrs. Y, "Mrs. Y is
the wife of the grandson of my
mother." How is Mr. X is related to
Mrs. Y ?

(1) Father (2) Grandfather
(3) Husband (4) Father-in-law

How many independent meaningful
words can 'HEARTLESS' be divided
into without changing the order of the
letters and using each letter only once ?
(11 (2) 2
3) 3 4) 4
In an examination, 27% students failed
in English and 38% failed in Science.
If 19% failed in both the subjects, then
the percentage of passed in both the
subjects is :
(1) 46% (2) 54%
3) 62% 4) 81%
Next terms of the following number
series are :

20, 20, 19, 16,17, 13, 14, 11, 2, ?
(1) 10,10 (2) 10,11
3) 13,14 4) 10,9
A man rows upstream 13 km and
downstream 28 km taking 5 hours
each time. What is the speed of
water ?
(1) 1¥2 km/hr
(3) 2% km/hr

(2) 2 km/hr
(4) 3 km/hr

P.T.O.



[A]
71

72.

73.

74.

75.

76.

I 9m 1 q 100 d% F W Ol
ferear B, @ a5 fhaet 9X 3 e ® °

() 19 (2) 11 (3) 20 (4) 21

A, B Sgrg s&e C XD, E @
REEAMCHTIA T & &R
C,BA g g a = & & -4
HIT TETH &9 ¥ FT R ?

(1) A, C q 93T 8l

(2) C,D ¥ g1

(3) D,C q 921 2l

(4) E,B ¥ g1

M, T, R, K X D & ud% &I @9
AT E, M dad T @ 87 3 X D
A K § @1 81 31 9 d9u asd
T AT B B 7

(T @D B)M @R

BES)

- ~ & qY S B
3 1
[
4 3
11 1
M 2 @) 2=
11 1
3) 35 4) 3§
e q qgeq, o @ ey SEd o
F oMy H R B a= ad g,
fUer & g I8 T B Ag W 7
T i R @ g oy @
(1) 40 g (2) 3094
(3) 50 a (4) 4579

qide fRem @ R B IR IET B
frg Remd & ?
(2) aferor

(1) T
(3) uie=m 4
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71.

72.

73.

74.

75.

76.

If Shyam writes down all the integers
from 1 to 100, then how many times
does he write 3 ?

(H 19 2) 11 3) 20 @) 21

A is elder to B while C and D are
elder to E. E lies between A and C
and C is elder to B, then which of the
following statements is necessarily
true ?

(1) AiseldertoC.

(2) CiseldertoD.

(3) Diselderto C.

(4) Eiselder to B.

Among M, T, R, K and D, each
having a different height, M is shorter
only from T and D is taller only from
K. Who will be the third tallest person
among them ?

IO T @D 3 M 4R

HEC)
BED)

The square root of

is equal to :
11 1
1) 2— 2) 2—
(D D (2) 5
11 1
3) 3— 4) 3—
3) B “4) B

After 5 years, father's age will be
three times of his son's age. 5 years
ago, father's age was 7 times of his
son's age. The present age of the
father is :

(1) 40 years (2) 30 years
(3) 50 years (4) 45 years
A man is performing yoga with his
head down and legs up. His face is
towards the west. In which direction

will his left hand be ?
(1) North (2) South
(3) West (4) East



78.

79.

80.

81.

82.

(1) 15 o & 918
(2) 12 o & 91
(3) 14 o & 918
4) 16 o & 9%

10% aiffes &9 & W Srsdial
ThlE BT X 800 BUY H TH T
926.10 &9 fhaw a¥ & s A ?

(1) 39 ) 1 a9

(3) 4v» a9 4) 2 a9

8, 15 aX 24 ¥ fauig am am
A T HE R B

(1) 120 (2) 1800

(3) 3600 (4) 6400

I 6 YT A f9hT gd, 8 Al & A

g%w%,a‘rwmﬁrrﬁm

(1) 25% @ (2) 25% &=

(3) 33%%31% 4) 33%%@1
AT % W Ted 68 W9 oM
RN & A (STeE) B & 7

(1) fepra I

(2) T G

(3) Glo A= @

(4) dlo dio THo o YA

BRATT 3G STHEH & ST D © 7
(1) M= TR

(2) HP& q8q

(3) =X P

4) QI 9
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77.

78.

79.

80.

81.

82.

[A]

Two taps A and B would fill a tank
completely in 30 and 36 minutes
respectively. Both taps being
opened, find when the tap A must be
turned off so that the tank must be
just filled in 18 minutes ?

(1) after 15 minutes
(2) after 12 minutes
(3) after 14 minutes
(4) after 16 minutes

In how many years will a sum of
Rs. 800 become Rs. 926.10 at 10% per
annum interest compound half yearly ?
(1) 3 years (2) 1%z years

(3) 4Y2 years (4) 2 years

The least square number, which is
divisible by 8, 15 and 24 is equal to :

(1) 120 (2) 1800
(3) 3600 (4) 6400

If the selling price of 6 pens is equal
to the cost price of 8 pens, then
profit/loss in percentage is :

(1) 25% profit  (2) 25% loss

(3) 33 % % loss (4) 33 % % profit

Who is the Chairman of the newly
constituted  6th  State  Finance
Commission of Haryana ?

(1) Vikas Gupta

(2) Rajesh Khullar

(3) P. Raghvendra Rao
(4) T. V.S.N. Prasad

Who is the vice-chairman of Haryana
Urdu Academy ?

(1) Gopichand Narang
(2) Kumud Bansal

(3) Chander Trikha
(4) Suraj Bhan

P.T.O.



[A]
83

84.

85.

86.

87.

88.

89.

90.

. BREem ¥ W @He @ Hed el
arafted § 7
(1) ®UEEE (2) aQNTa
(3) &I (4) T®
HTaeT Gdl § W@ Ysh foerdr @l
BRI TR &N &l S arl JOeRe
i 2
(1) & *3g
(2) & Fg
(3) TEER @
(4) 3% g

1857 % fomle & 3N Asas &M
foreedier @I o ?

(1) 99 R (2) s=go $89
3) TeH A (4) BB

g T, S % T g ©
(1) AT (2) afee

(3) A& 4) 3=

‘TeFpy @ RO & B9 N H
Reg 2 7

(1) JeT% (2) deg

(3) HEIA (4) DT

R fagraT, S st 2019 &
A B 9 e H W R

(1) 124t (2) 134t

(3) 144t (4) 154t

M BMe @ B & H fhE TS
@R § T 6 T 8 7

(1) ZTEE e

(2) TS TS

(3) elE T T T S1as

(4) HME< e

fre 9T & IR AW & or ?

(1) "e=TTe
(3) HIA

(2) ST
(4) GFg
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83.

84.

85.

86.

87.

88.

89.

90.

Where is the palace of Begum Samru
located in Haryana ?

(1) Faridabad  (2) Sonipat
(3) Gurugram (4) Rohtak
The award is given by the Haryana

Government to the gold medal winner
in the Commonwealth games :

(1) Three crore

(2) Two crore

(3) Seventy Five lakh

(4) One & half crore

Who was the Collector of Rohtak
during the uprising of 1857 ?

(1) Thomas Semton (2) W. Eden
(3) Adam Loch (4) Hudson

Rivulet, which is one of the tributary
of Ghaggar :

(1) Chautang (2) Sahibi
(3) Dohan (4) Indori

In which district of Haryana "Tikkar
lake' is located ?

(1) Rohtak (2) Panchkula

(3) Karnal (4) Kaithal

The assembly of Haryana, which has
been constituted after the election of
October, 2019 :

(1) 12% (2) 13"

(3) 14" 4) 15"

Vinesh Phogat is recently honoured
with which National Award ?

(1) Dronacharya Award

(2) Arjuna Award

(3) Rajiv Gandhi Khel Ratna Award
(4) Dhyanchand Award

Which city has its ancient name as
Kanaud ?

(1) Mahendragarh (2) Ambala

(3) Kaithal (4) Sonipat
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[A]

AT - IV / PART = IV
JUsh / ENGLISH

Direction : Answer the following questions by selecting the most appropriate option.

Read the following passage and answer
the questions given below (Q. Nos. 91 to
98) :

The motivation for deep-space travel is
shifting from discovery to economics. The
past year has seen a flurry of proposals
aimed at bringing celestial riches down to
Earth. No doubt this will make a few
billionaires even wealthier, but we all stand
to gain : the mineral bounty and spin-off

technologies could enrich us all.

But before the miners start firing up their
rockets, we should pause for thought. At
first glance, space mining seems to sidestep
most environmental concerns : there 1is
(probably!) no life on asteroids, and thus
no habitats to trash. But its consequences —
both here on Earth and in space — merit

careful consideration.

Part of this is about principles. Some will
argue that space's "magnificent desolation"
1s not ours to despoil just as they argue that
our planet's poles should remain pristine.
Others will suggest that glutting ourselves
on space's riches is not an acceptable
alternative to developing more sustainable

ways of earthly life.

Level-3/9202

History suggests that those will be hard
lines to hold, and it may be difficult to
persuade the public that such barren
environments are worth preserving. After
all, they exist in vast abundance, and even
fewer people will experience them than have

walked through Antarctica's icy landscapes.

There's

economy to consider. The resources that

also the emerging off-world
are valuable in orbit and beyond may be
very different to those we prize on Earth.
Questions of their stewardship have barely
been broached and the relevant legal and
regulatory framework is fragmentary, to
put it mildly.

Space miners, like their earthly counterparts,
are often reluctant to engage with such
questions. One speaker at last week's
space-mining forum in Sydney, Australia,
concluded with a plea that regulation
should be avoided. But miners have much
to gain from a broad agreement on the for-
Without

consensus, claims will be disputed, investments

profit exploitation of space.
risky and the gains made insecure. It is in
all of our long-term interests to seek one

out.

P.T.O.



[A]

91.

92.

93.

Two of the arguments given against
deep space travel and mining are :

(a) the mineral bounty and spin-off
technologies could enrich us all.

(b) there is no life on asteroids, and
thus no habitats to trash.

(c) the space's magnificent
desolation is not ours to despoil.

(d) glutting ourselves on space's
riches is not an acceptable
alternative to developing more
sustainable ways of earthly life.

(1) (@) and (d) (2) (a) and (b)

(3) (b)and(c) (4) (c)and (d)

The word 'hold' in the 4th paragraph,
most nearly means :

(1) maintain
(2) grip

(3) restrain
(4) withstand

What according to the passage, has
hardly been discussed ?

(1) Questions of the management
and regulation of the resources
available in space.

(2) The mineral bounty available in
space that would enrich us all.

(3) That such barren environments
are worth preserving.

(4) That a lot of people will walk
through the space's pristine
environment.
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94.

95.

96.

Which of the following is not an
antonym of 'fragmentary’ ?

(1) whole (2) total

(3) unbroken (4) piecemeal

The main purpose of the last
paragraph is to :
(1) highlight the

concordance among space miners.

importance  of

(2) avoid regulation in space-mining.

(3) dispute the claims and

investments of the space miners.

(4) focus on the reluctance of the
space miners to risk investments

in space-mining.

Which choice provides the best
evidence for the answer to the
previous question ?

(1) 'Space miners, like their earthly
counterparts, are often, reluctant
to engage with such questions'.

(2) 'One speaker concluded
that regulation should be

avoided'.

"The resources that are valuable in
orbit and beyond may be very
different to those we prize on
Earth'.

'Without consensus, claims will
be disputed, investments risky,
and the gains made insecure’'.

3)

“)



97.

98.

99.

Fill in the blank in the given
sentence with the appropriate word
from the passage :

She believes that .......... of the
environment 1s everyone's
responsibility.

(1) consensus
(2) stewardship
(3) discovery

(4) mining

The central claim of the passage is
that space mining has positive
potential but :

(1) it will end up encouraging

humanity's reckless treatment of
the environment.

(2) its effects should be thoughtfully
considered before it becomes a

reality.

(3) such potential may not include
replenishing resources that are

disappearing on Earth.

the
the

about

“4)

experts  disagree
commercial viability of
discoveries it could yield.

Which of the following pair of words
are not synonymous to each other ?

(1) Loquacious — talkative
(2) Phlegmatic — excitable
(3) Pompous — conceited

(4) Indefatigable — tireless
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100.

101.

102.

[A]

The 'Shokalskiy’ mentioned in
Tishani Doshi's 'Journey to the End
of the Earth'is :

(1) a  submarine  capable of
independent operation under
water.

(2) the helicopter that was used to
rescue passengers from the
stranded ship.

(3) a research ship for Arctic and
Antarctic expedition.

(4) the miracle airplane that can
land on water.

Which of the following sentence is
grammatically correct ?

(1) The state of his affairs were such
as to cause anxiety to his creditors.

(2) The rise and fall of the tide is
due to lunar influence.

(3) The Chairman, with
directors, are to be present.

the

(4) Sanskrit, as well as Arabic, were
taught there.

Identify the sentence/s with adjective
phrases :

(a) The boy with the red sleeve fell
to the ground.

(b) The boy who is smiling is my
friend.

(c) The elephant which is chained
belongs to the temple.

(d) She bought the house with the
large, painted, glass windows.

(1) Only sentence (a)

(2) Sentences (b) and (¢)

(3) Sentences (a) and (d)

(4) Sentences (a), (b), (¢) and (d)

P.T.O.



[A]

103.

104.

105.

Which of the following does mnot
mean the same as the underlined
word in the given sentence ?

He was visibly moved.
(1) apparently

(2) noticeably

(3) imperceptibly

(4) obviously

Which of the following is not an
example of an oxymoron ?

(1) Deliberate Mistake
(2) Foolish Idiot

(3) Original Copy

(4) Organized Mess

Which lines from Elizabeth Jenkings
poem do not focus on the generation
gap between the father and the son ?

(1) "We speak like strangers, there's
no sign of understanding in the

air.

(2) 'This child is built to my design,
yet what he loves I cannot share'.

I would have.

Him prodigal, returning to

His father's house, the house he
knew,
Rather than see him make and
move

His world
'T do not understand this child

“4)
Though we have lived together
now.

In the some house for years'.
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106.

107.

108.

1

Identify the correct 'passive construction
of the following sentence :

They laughed at his warnings and

objected to all his proposals.

(1) They laughed and objected to his
warnings and proposals
respectively.

(2) At his warnings, they laughed
and to all his proposals, they
objected.

(3) His warnings were laughed at and
all his proposals were objected to.

(4) At his warnings, they were
laughing and to all his proposals,
they were objecting.

Which of the following is not an
example of Onomatopoeia ?

(1) Hail is rattling upon the roof.

(2) The kingfisher flew fast like a
piece of the blue sky.

(3) The bacon sizzled in the pan.

(4) The creak of the branches in the
icy wind made me shiver.

Identify the figure of speech in :
"She's all states, and all princes, I,
Nothing else is.

Princes do but play us, compared to
this,

All honor's mimic, all wealth alchemy"
(1) Simile

(2) Metaphor

(3) Epithet

(4) Synecdoche



109.

110.

111.

112.

Choose the correct phrasal verb to
complete the following sentence :

The students laughed and
from him.

(1) closed down (2) dropped in

(3) fell apart (4) edged away

Which of the following words is a
Noun ?

(1) arrive (2) assemble

(3) disturbance (4) observe

Which of the following sentences are
grammatically incorrect ?

(a) Do you play the cricket at school ?

(b) She has danced for two hours
last night.

(c) He gave his brother a typewriter.

(d) She is the smartest girl in our
class.

(1) Sentences (a) and (b)
(2) Sentences (b) and (¢)
(3) Sentences (c) and (d)
(4) Sentences (a) and (d)

When Hemingway's novel 'The Old
Man and the Sea' begins, how many
days had it been since Santiago last
caught a fish ?

(1) 77 days
(2) 03 days
(3) 84 days
(4) 48 days
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[A]

113. Choose the correct 'Indirect Speech’

of the following :

The general, addressing his mutinous
troops said, "You have brought
disgrace upon a famous regiment. If
you had grievances, why did you not
lay them before your own officers ?
Now you must suffer punishment for
your offence before your complaints
can be heard."

(1) The general told his mutinous
troops that they had brought
disgrace upon a  famous
regiment. If they had grievances,
why had they not laid them
before their own officers. Now
they must suffer punishment for
their offence before their
complaints could be heard.

(2) The general said to his mutinous
troops that they had brought
disgrace upon the famous
regiment. If they have difference,
why didn't they lay them before
their own officers ? Now they
must suffer for their offence before
their complaints can be heard.

(3) The general shouted at his
mutinous troops and said that
they had brought disgrace upon
a famous regiment. If you have
grievances, they should have
brought the same before their
own officers. Now, you must
suffer punishment for your
offence before your complaints
can be heard.

(4) The general told his mutinous
troops that they have brought
disgrace upon a  famous
regiment. If they had grievances,
why did they not lay them before
their own officers. Now they
must suffer punishment for their
offence before their complaints
can be heard.

P.T.O.



[A]

114.

115.

116.

Identify the sentence with the

following pattern :

Subject + Vt + Noun/pronoun +
present participle (phrase)

(1) They saw the thief running away.
(2) He will need looking after.
(3) He began talking about his family.

(4) He prefers walking to going by
car.

Which of the following sentences is
in the active voice ?

(1) Wolves have been seen in the
streets.

(2) The injured player was being
carried off the field.

(3) The old newspapers were thrown
away.

(4) T remember my father taking me
to the zoo.

Which part is incorrect in the given
sentence ?

(1) As far as the export of wildlife is
concerned.

(2) this is luckily a subject on which
opinion.

(3) do
boundaries.

not stop at political

(4) Thinking people of Europe are
just as disturbed by the depletion
of Indian wildlife as we are.
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117.

118.

119.

Which is the odd one out ? (Sentence
pattern)

(1) They did very little work that day.

(2) We shall make an announcement
tomorrow.

(3) I can't stand travelling in the
rush-hour.

(4) The company has bought several
new aircraft.

Which of the following is not an
Abstract Noun ?

(1) Goodness
(2) Laughter
(3) Slavery

(4) Beautiful

In which of the sentences given
below, the word 'panel' is used in a
different sense than the others ?

(1) Judge H. Hobart Grooms told
the jury panel he had heard the
reports.

(2) The masks from Bawa Village in
Mali look like long panels of

decorated wood.

The the
groundwork for an international

3) panel is laying

treaty.

(4) Through the many round tables,
workshops and panel discussions,

a consensus was reached.



Direction : Choose the correct word to fill
in the blank in the given sentences (Q. Nos.
120 & 121):

120.

121.

122.

Watching that cookery programme
on TV has really
appetite for trying some new recipes.

(1) watered
(2) welted
(3) whetted
(4) whated

my

The party was really disruptive; the
neighbours pleaded
them to turn the music down.

for

(1) ineffectually
(2) noisily

(3) hastily

(4) severely

In Tennyson's poem titled 'Ulysses'
how does Ulysses feel about his
homeland ?

(1) He is content in ruling his people
after being away for a long time.

(2) He doesn't like the manner in
which his son Telemachus has
ruled the land in his absence.

(3) He is thoroughly discontented
and yearns to travel and explore
again.

(4) He reveres his homeland and is
happy to be reunited with his
wife, son and his people.
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123.

124,

125.

[A]

In William Shakespeare's play '"The
Merchant of Venice', what condition
must the Prince of Morocco agree to
before he may choose from among

the caskets, in order to marry Portia ?

(1) That if he chooses wrong, he
will give all his wealth to Portia

and leave forever.

(2) That if he chooses wrong, he

will never marry.

(3) That if he chooses wrong, he
will have to marry a woman of

Portia's choosing.

(4) That if he chooses wrong, he

will become Portia's slave.

Pick the odd one out :
(1) supreme

(2) unparalleled

(3) pathetic

(4) sterling

Which of the following do not deal
with the partition of India ?
(1) Khushwant Singh's

Pakistan'

"Train to

(2) Bhisham Sahni's 'Tamas'

(3) Bapsi Sidhwa's 'Ice Candy Man'

(4) Munshi Premchand's 'Godan'
P.T.O.



[A]

126.

127.

128.

129.

Which of the following sentences
does not have an 'adverb + adjective'
combination ?

(1) Alexa thought the new cafe
would be cheap, but it is
extremely expensive.

(2) My friend's brother was injured
in an accident and the police
were incredibly helpful.

(3) Look at Sahil's car. It's been
completely destroyed.

(4) The room had been painted in a
strange way. The walls were
unusually flamboyant.

Which of the following is misspelt ?
(1) Camaraderie

(2) Circumlocution

(3) Commensurate

(4) Componction

Which of the following has won the
Booker Prize for Literature twice ?

(1) Ruth Prawer Jhabwala
(2) Iris Murdoch

(3) Michael Ondaatje

(4) Margaret Atwood

Which of the following is/are not
written by Mahatma Gandhi ?

(a) The Story of My Experiments
with Truth

(b) Hind Swaraj
(c) Annihilation of Caste
(d) Shantaram
(1) Only (c)
(3) Only (d)

(2) (a), (b) and (¢)
(4) (c) and (d)
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130.

131.

132.

133.

Which of the following English words
has not been correctly transcribed
phonetically ?

(1) alien — /'eilian/

(2) active — /'&ktiv/

(3) allergy — /'®la(r)gi/
(4) absurd — /ab'so:(r)d/

The Nobel Prize in Literature (2018
& 2019) has been given to :

(a) Olga Tokarczuk

(b) Orhan Pamuk

(c) Peter Handke

(d) Kazuo Ishiguro

() @&®)  (2) (b) &(d)
(3) (a) & (0) 4) (c) &(d)

Which is the correct phonetic
transcription of the English word
photograph ?

(1) /foutagra:f/ (2) /phaotougraef/
(3) /fotugra:f/  (4) /thautrugraf/

Identify the sentence/s with the Noun
Clause from the given sentences :

(a) Who will be selected for the post
is not certain.

(b) He came to tell me that the
school was closed.

(c) The gift that Ravi brought was
the best.

(d) We went into the room where
everyone had gathered.

(1) Only sentence (a)

(2) Sentences (a) and (b)
(3) Sentences (b) and (¢)
(4) Sentences (c¢) and (d)



134.

135.

Which work of William Wordsworth
is generally considered to be his

"magnum opus' ?

(1) The Excursion

(2) Preface to the Lyrical Ballads
(3) Guide to the Lakes

(4) The Prelude

Which of the following statement/s

is/are false ?

(a) The letter 's' represents four

different sounds in the four

English words see, sugar, nose

and vision.

(b) The first consonant sound in the
English word ocean is the same
as the last consonant sound in

the English word push.

(c) The English word high begins

and ends with the same sound.

(d)

The English words voice and noise

end with the same consonant

sound.
(1) Only statement (b) is false
(2) Only statement (c) is false
(3) Statements (a) and (b) are false

(4) Statements (c) and (d) are false

Level-3/9202

[27]

[A]

136. Which of the following statement/s

137.

is/are true ?

(a) The initial sound in the English
word window is not the same as
the final sound in it, though the
word begins and ends with the
same letter of the alphabet.

(b) The vowel in the English word
cot and that in the English word
fool are articulated with the

same degree of lip-rounding.

(c) The letter 'u' in English always
represents the same sound in

English words.

The letter 's' in the English word
sugar represents the same sound
as the letters 'ti' in the word
nation.

(d)

(1) Only statement (a) is true
(2) Only statement (b) is true
(3) Statements (a) and (d) are true
(4) Statements (b) and (c) are true

In Samuel Taylor Coleridge's poem,
"The Rime of the Ancient Mariner',
what happened shortly after the
Albatross appeared ?

(I) The Ancient Mariner
away the Albatross.

drove

(2) The ice cracked and the ship was
able to steer through.

(3) The ice caved in suddenly and
killed all except the Ancient
Mariner.

(4) Slimy creatures appeared in the
water surrounding the ship.

P.T.O.



[A]

138.

139.

140.

Identify the figure of speech in the
following sentence :

He lay all night on his sleepless
pillow.

(1) Metaphor

(2) Personification

(3) Transferred Epithet
(4) Epigram

In R. K. Narayan's name, what do
the initials R. K. stand for ?

(1) Rasipuram Krishnaswami
(2) Ramanayapalem Krishnan
(3) Ramaswamy Krishnati

(4) Ramankary Krishnaswanim

Pearl S. Buck's 'The Enemy' deals
with :

(a) the conflict between man's humane
feelings and the prejudices
created by nations at war.

(b) the conflict between a man's duty
towards the state and towards his

own conscience.

(c) the real enemy : deeply bigoted
and blindly prejudiced citizens
so consumed by their nationalist
patriotism that everybody who is
not a countryman is deemed
inferior at birth.

(d) the universality of the Human Race.
(1) Statements (a) and (b)

(2) Statements (a) and (¢)

(3) Statements (a), (b) and (d)

(4) Statements (a), (b), (¢) and (d)
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141.

142.

Match

descriptions :

the words with their

(a) atheist (i) one who is ostentatious

about his learning

(b) ascetic one who adulates

(ii)
(iii)

(c) pedant disbeliever in God

(d) sycophant (iv) one who leads an

austere life
(1) (a)-(iii), (b)-(iv), (0)-(1), (d)-(i1)
(2) (@)-(iv), (b)-(iid), (¢)-(i1), (d)-()
3) (@-(iD), (b)-(D), (¢)-(iv), (d)-(iii)
4 (a)-(iii), (b)-(), (¢)-(iv), (d)-(i1)

Which of the following are complex

sentences ?

(a) In the green vase there were four

dead roses.

(b) Farookh played the Sitar from
8 o'clock to 12 o'clock.

(c) If it doesn't rain, we will surely

come.

(d) We don't know where they come

from.
(1) Sentences (a) and (b)
(2) Sentences (b) and (¢)
(3) Sentences (c¢) and (d)
(4) Sentences (b), (¢) and (d)



143.

144.

145.

Which of the following examples in
reported speech is grammatically

incorrect ?

(1) The Mayor said that it gave him
great pleasure to be there that

evening.

)

He said that he would go as soon

as it was possible.

He said that he does not wish to

3)
see any of them and ordered

them to go away.

)

My teacher often says to me that
if I don't work hard I shall fail.

Identify the figure of speech in the

following sentence :

He is a cheerful pessimist.
(1) Climax

(2) Metonymy

(3) Metaphor

(4) Oxymoron

Which of the following words does

not refer to a manner of walking ?
(1) haggle

(2) trudge

(3) stride

(4) waddle
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146.

147.

[A]

In Kalki's story, 'The Tiger King',
how does the Maharaja appease the
British Officer who wished to hunt

tigers in Pratibandapuram ?

(1) The Maharaja sent expensive

diamond rings to the British

Officer's good lady.

(2) The Maharaja gave two lakh
rupees to the high ranking
British Officer.

3)

The Maharaja organized a boar

hunt for him.

“

The Maharaja accompanied the
British Officer on the hunt and
killed the tiger.

Identify the wunderlined part of

speech in the following sentence :

The difficult child scarcely touched

the green vegetables on her plate.
(1) Verb

(2) Adverb

(3) Adjective

(4) Preposition

P.T.O.



[A]

Direction : Match the idiom on the left
with its definition on the right (Q. Nos. 148
& 149) :

148. (a) have itchy (i) start off in a bad
feet way

(b) getcold feet (ii) be restless/want
to travel

(c) get off on the (iii) feel familiar with

wrong foot something
(d) find your (iv) regret a decision
feet

(1) (a)-@v), (b)-(iii), (¢)-(iD), (d)-(1)
(2) (a)-(iid), (b)-(1), (¢)-(iv), (d)-(i1)
(3) (@)-@), (b)-(iD), (0)-(iid), (d)-(iv)
4) (a)-(i1), (b)-(iv), (¢)-(1), (d)-(iii)

149. (a) tolose face (i) to deal with some-
thing bad or
unpleasant in a
direct way

(b) tofaceupto (ii) how a situation
seems on the
surface

(c) in the face (iii)) to become less
of it respected by others

(d) on the face (iv) in a  situation
of where there are
many  problems,
difficulties or

dangers

(1) (a)-(iii), (b)-(), (¢)-(iv), (d)-(i1)
(2) (a)-(iD), (b)-(iid), (¢)-(iv), (d)-(@)
(3) (@)-(1), (b)-(i1), (¢)-(iii), (d)-(iv)
@) (@)-(v), (b)-(iii), (¢)-(1), (d)-(ii)

[30]

150. Which of the following women
writers has/have received the Nobel

Prize for Literature ?
(a) Pearl S. Buck
(b) Toni Morrison
(c) Alice Munro

(d) Margaret Atwood
(1) (a) & (b)

(2) (b) & (c)

(3) (@), (b) & (c)

4) (b) & (d)
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